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1. a) log,_,(2x*—9x+10)=0, 6) log, ,(3y*—7y—5)=0.
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. a) log;, x
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.a) logz, x = oz 23 6) log?, y = log, 13-

. a) log,o y*=1og,,(19y)?, 6) log,s z* =10g,5(162)%.

6) log,. 2

_ 1
- log;,x’ logys 2

. a) x* +logs x +log 2x_5 =11, 6) y*>+log,y+log, 3;,—6 =83.
. a) log;(x? —12) =log;(—x), 6) logs(y*—35) =log;(2y).
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. a) log,(x? — 5x + 6) =log,; (x — 2),

6) log,; (y*+9y + 18) =log,; (¥ +6).
8. a) log? x —log, x> +2=0, 6) log2z —log, 277 +12=0.

9. a) logﬁ(4x —1)=log,(4x — 1), 6) log§(7y —5)=log,(7y — 5)°.

10. a) log,: 13 =logy 4, 13, 6) log,. 17 =1log,,, 17.
(x+6)(x+7) (z—9)(=2+7)
11. a) log, (x +8) =0, 6) log,(z+8) =0.
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a) (x+1)log,,,(x+3)=0, 6) (x+5)(x+2)log_,_,(x+9)=0.

a) (x+2)(x—5)logg_,(x+7)=0,

6) (x—9)(x+2)log, 3(x+4)=0.

a) (x—1)log,,¢(x—7)=0, 6) (x+8)log, . 4(x+1)=0.

) (y+11)(y+19)=0 6) (x—11)(x+21)=0
log,,(y +17) ’ log,;(x+13) '

a) (x—>5)log,(x—5)=0, 6) (x —8)logy(x—8)=0.
a) logy (22 — 24) =logy(—22), 6) logg(x* —18) =logg(3x).
a) (x2—-4)In(1-x)=0, 6) (y%—16)1g(1-y)=0.

a) log,(2—y) -log,(2y? — 9y +10) =0,

6) logs(3—y) -logs (2y? — 13y +21) =0.

a) log,_,(x2-5)=1, 6) log,_,,(2>—8)=1.

a) (x*-9)1g(-x)=0, 6) (y*—4)1g(-y)=0.

a) (x+2)In(x+1)=0, 6) (z+3)1g(z—7)=0.

a) logs(x+1)*=8, 6) log,(z —2)°=12.

a) log, (x?—7)=log,_, (4—x), 6) log, (x> —23) =log,_, (6 — x).

a) log,; (y*—35)=log,_, 1, 6) log;3(y*—3)=logs_, 1.




